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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þöìîûyV 
 

    !î¦þy† ééô „þ 
    £zvþz!˜Ýþ éôé 1 
 

1Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S2 × 5V 

 „þV x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû vþzþ™›yöì˜îû œÇþ’ ”yçÐ 

 …V œÇþ’yîû x!“þ!îû_« ö†ï’#î,!_ ßþº#„þyîû „þîûy vþz!‰þ“þ ˜ëû éôôôé x§¬‚¦þöìRîû ~£z î_«îÄ!Ýþ îÄy…Äy „þîûÐ 

 †V òòxy®îy„þÄ‚ Ÿ·ƒóó éôôôé þ™‚!_«!Ýþ ²Ì¢D vþzöìÍÔ…þ™)îÅ„þ x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû îÄy…Äy „þîûÐ 

 ‡V òŸ· ²Ì›y’yhsþîû ˜ëûóó éôôôé ~£z ›“þ x§¬‚¦þR „þ#¦þyöìî …[þ˜ „þöìîûöìŠé˜Ú 

2Ð öëöì„þyöì˜y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1 × 15V 

 „þV œÇþ’y ßþº#„þyöìîûîû ë%!_« „þ#Ú vþz”y£îû’¢£ !î!¦þ§¬ ²Ì„þyîû œÇþ’y îÄy…Äy „þîûÐ S5 + 10V 

 …V xy„þyAÇþy‟ öëy†Ä“þy ç ¢!§¬!„ îœöì“þ x§¬‚¦þR „þ# î%!GþöìëûöìŠé˜Ú Ÿy·öìîyöì„îû öÇþöìe ~öì”îû „þyîû’ îœy £ëû ö„þ˜Ú 

“þyêþ™ëÅ „þyöì„þ îöìœÚ “þyêþ™ëÅöì„þ Ÿy·öìîyöì„îû „þyîû’ îœy ëyëû !„þ˜y x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû xyöìœy‰þ˜y „þîûÐ S6 + 2 + 2 + 5V 
 

    £zvþz!˜Ýþ éôé 2 
 

3Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S2 × 5V 

 „þV xíÅyþ™!_ „þëû ²Ì„þyîû ç „þ# „þ#Ú vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 …V Kþyöì˜îû ²Ìy›y’Ä „þ#¦þyöìî ‹y˜y ëyëû ö¢£z !î¡ìöìëû x§¬‚¦þöìRîû ›“þ!Ýþ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 †V xíÅyþ™!_ !„þ ²Ì›y’yhsþîûÚ ”#!þ™„þy x %̃¢îûöì’ xyöìœy‰þ˜y „þîûÐ 

 ‡V Kþyöì˜îû vþzêþ™!_ ç Kþ!® !î¡ìëû„þ þ™yíÅ„þÄ !˜’Åëû „þîûÐ 

4Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1 × 15V 

 „þV ²Ìy¦þy„þîû ›#›y‚¢„þ†’ “¤þyöì”îû ¢›!íÅ“þ ßþº“þƒ²Ìy›y’Äîyöì”îû þ™!îûöì²Ì!Çþöì“þ ¼öì›îû „þ# îÄy…Äy ö”˜Ú x§¬‚¦þR „þ#¦þyöìî ~£z 

î_«öìîÄîû ¢›yöìœy‰þ˜y „þöìîû˜Ú S10 + 5V 

 …V ßþº“þƒ²Ìy›y’Ä ç þ™îû“þƒ²Ìy›yöì’Äîû ›öì„Ä þ™yíÅ„þÄ !àþ„þ ö„þyíyëûÚ þ™îû“þƒ ²Ìy›y’Äîy”# „þyîûyÚ “þ¤yöì”îû ›öì“þîû ¢›íÅöì˜ 

ë%!_«=!œ xyöìœy‰þ˜y „þîûÐ S4 + 2 + 9V 
 

    !î¦þy† ééô … 
    £zvþz!˜Ýþ éôé 1 
 

5Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S2 × 5V 

 „þV î%œ#ëû îy„þÄy„þyîû (statement schema) îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’ ”yçÐ 

 …V ö„þy ä̃ Ÿöì“Åþ ~„þ!Ýþ î%œ#ëû ¢_´îy„þÄ (existence schema) ÷î„ £ëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 †V Ÿ)˜Ä ö×!’ öë ö„þyöì˜y ö×!’îû vþzþ™öì×!’ £öì“þ þ™yöìîû éôôôé îÄy…Äy „þîûÐ 

 ‡V ò£ëûó !e«ëûyþ™”!Ýþîû !î!¦þ§¬ ö¢Ýþ“þy!_́„þ îÄî£yîû vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 



(2) 
 

6Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1 × 15V 

 „þV i) ö„þyëûy£z̃  öë þ™¤y‰þ²Ì„þyîû î%œ#ëû îyöì„þÄîû „þíy îöìœöìŠé˜ “þyöì”îû ²Ìöì“þÄ„þ!Ýþîû ~„þ!Ýþ „þöìîû vþz”y£îû’ ”yçÐ S3V 

  ii) x!hßþc¢)‰þ„þ ›y˜„þ ¢Mþéyœöì˜îû (LED) ¢)e!Ýþ vþz”y£îû’¢£ îÄy…Äy „þîûÐ S3V 

  iii) !˜Á¬!œ!…“þ öëöì„þyöì̃ y !“þ˜!Ýþ ë%!_«îû ÷î„“þy ¢_́²Ìy„þ!Ò„þ þ™kþ!“þîû ¢y£yöìëÄ !î‰þyîû „þîû ƒ S3 × 3V 

   xV ‰þ“%þíÅ ¢‚ßþiyöì̃  EAO ›)!“Åþ 

   xyV ö„þyöì˜y ¦þyîû“þ#ëû „þy„þ ¢y”y ˜ëûÐ ¢„þœ ¢y”y „þy„þ £ëû xöìÜTÉœ#ëûÐ ¢%“þîûy‚ ö„þyöì˜y „þy„þ ˜ëû ¢y”yÐ 

   £zV ö„þyöì˜y ö„þyöì˜y F £ëû G xíîy ö„þyöì˜y ö„þyöì˜y F £ëû HÐ ¢%“þîûy‚ ö„þyöì˜y ö„þyöì˜y F £ëû G xíîy HÐ 

   {V ( )( ), ( )[( ) ]

( )( ~ )

x Kx Lx x Kx Lx Mx

x Kx Mx

 

 

 

 …V i) òö¢Ýþ !¦þ§¬“þyó (Set difference) îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ S3V 

  ii) ö¢Ýþ ¢‚e«yhsþ îy‰þÄ ¢îÅßþºÄ“þyîû ¢)e!Ýþ (principle of extensionality for sets) vþz”y£îû’¢£ îÄy…Äy „þîûÐ S3V 

  iii) !˜Á¬!œ!…“þ ë%!_«!Ýþöì“þ „þ# ö”y¡ì ‡öìÝþöìŠéÚ 

   ¢öìe«!Ýþ¢ ~„þ‹˜ ›y %̃¡ìÐ ›y %̃¡ì x¢‚…ÄÐ ¢%“þîûy‚ ¢öìe«!Ýþ¢ £˜ x¢‚…ÄÐ S3V 

  iv) „îûy ëy„þ {2,{4,5},4}E   “þy£öìœ !˜Á¬!œ!…“þ îy„þÄ=!œîû ›öì„Ä ö„þy˜!Ýþ xÖkþ ~î‚ ö„þ˜Ú S3V 

   xV 5 E  

   xyV {5} E  

   £zV {{4,5}} E  

  v) A, B ~î‚ C öëöì„þyöì˜y ö¢Ýþ ö£y„þ˜y ö„þ˜‟ !˜Á¬!œ!…“þ îy„þÄ=!œ ¢“þÄ !„þ˜y îœ ƒ S3V 

   xV ë!” A B  ~î‚ B C  £ëû‟ “þy£öìœ A C Ð 

   xyV ë!” A B  ~î‚ B C ‟ “þy£öìœ A C Ð 

   £zV ë!” A B  ~î‚ B C ‟ “þy£öìœ A C Ð 
 

    £zvþz!˜Ýþ éôé 2 
 

7Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S2 × 5V 

 „þV œ!‡ÜT ²Ì‹y!“þ (infinmae species) ~î‚  †!îûÛþ ‹y!“þ (summum genus) îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ 

¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 …V !möì„þy!Ýþ„þ !î¦þy‹˜ îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 †V xD !î¦þy‹˜ (physical division) ç =’ !î¦þy‹öì˜îû (metaphysical division) ~îû ›öì„Ä þ™yíÅ„þÄ ¢‚öìÇþöìþ™ 

îÄy…Äy „þîûÐ 

 ‡V î,£_› ²Ì‹y!“þ îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

8Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1 × 15V 

 „þV i) öëï!_«„þ !î¦þy‹˜ îœöì“þ „þ# öîyGþyëûÚ öëï!_«„þ !î¦þy‹öì˜îû !˜ëû›=!œ vþz”y£îû’¢£ îÄy…Äy „þîûÐ S9V 

  ii) !˜Á¬!œ!…“þ !î¦þy‹˜=!œ ›)œÄyëû̃  „þîû ƒ S3 × 2V 

   xV ›y %̃¡ìöì„þ ¦þyœ‟ ›¨ ç î%!kþ›y˜îû*öìþ™ 

   xyV îlßþöì„þ ö”£#‟ ²Ìy’# ç ›y %̃öì¡ì 

   £zV ›y %̃¡ìöì„þ !£ %̈‟ „,þ¡Œ„þyëû ç ¦þyîû“þîy¢#îû*öìþ™ 

 …V i) xy›îûy ¦þy† „þ!îû ‹y!“þöì„þ‟ xyîû ö×!’!î˜Ähßþ „þ!îû ‹y!“þîû xhsþ†Å“þ îÄ!_«=!œöì„þ éôôôé îÄy…Äy „þîûÐ S6V 

  ii) vþz”y£îû’¢£ îÄy…Äy „þîû ƒ S9V 

   xV œÇþöì’ x!“þîÄy!® ö”y¡ì 



(3) 
 

   xyV œÇþöì’ xîÄy!® ö”y¡ì 

   £zV ˜~ŒíÅ„þ œÇþ’ ö”y¡ì 
 

[Use a separate Answer Book for each group] 
 

Group – A 

Unit - I 
 

1. Answer any two questions of the following : (2 × 5) 

 a) Define Upamāna after Annaṃbhatta. 

 b) Explain the view of Annaṃbhatta that 'Gaunī' should not be taken as vṛtti distinct from lakṣaṇā. 

 c) "Āptavākyaṁ Śabdaḥ" – explain the statement with reference to the context after Annaṃbhatta. 

 d) "Śabda is not a distinctive pramāṇa" – how does Annambhatta refute this view? 
 

2. Answer any one question of the following : (1 × 15) 

 a) Why is lakṣaṇā admitted? Explain the different varieties of lakṣaṇā with examples. (5 + 10) 

 b) What does Annaṃbhatta mean by ākāṃkṣā, yogyatā and sannidhi? Why are these regarded as 

causes of śabdabodha? What is meant by tatparya? Can it be regarded as the cause of 

sabdabodha. (6 + 2 + 2 + 5) 
 

Unit - II 
 

3. Answer any two questions of the following : (2 × 5) 

 a) How many types of Arthāpatti are there and what are they? Explain with examples. 

 b) Explain briefly the view of Annambhatta as to how the validity of a cognition is known. 

 c) Is arthāpatti a separate pramāna? Discuss after Dīpikā. 

 d) Determine the distinction between utpatti and jnapti of knowledge. 
 

4. Answer any one question of the following : (1 × 15) 

 a) What is the explanation of bhrama (illusion) given by the Prabhākara Mimāṁsakas in the 

context of their Svatoprāmānyavāda? How does Annambhatta criticise this view? (10 + 5) 

 b) What exactly is the point at issue between the theories of svataḥ and paratah pramānya? Who 

are the supporters of parataḥ pramānyavāda? Discuss the arguments in favour of parataḥ 

pramānya. (4 + 2 + 9) 
 

Group – B 

Unit - I 
 

5. Answer any two questions of the following : (2 × 5) 

 a) What is meant by Boolean statement schema? Give example. 

 b) What is the validity condition of a Boolean existence schema? Explain with example. 

 c) Empty set is a subset of any set. Explain. 

 d) Explain the different set theoritic uses of 'is' (to be verb), with illustrations. 
 

6. Answer any one question of the following : (1 × 15) 

 a) i) Give example of each of the five kinds of Boolean statements, as mentioned by Quine. (3) 

  ii) Explain with example, the law of existential distribution (LED). (3) 

  iii) Test the validity of any three of the following arguments by existential conditional method : (3 × 3) 

   a) EAO in Fig 4. 

   b) No Indian crows are white. All white crows are Australian. Therefore, no crows are white. 

   c) Some F are G or some F are H. 

     Some F are G or H. 



(4) 
 

   d) ( )( ), ( )[( ) ]

( )( ~ )

x Kx Lx x Kx Lx Mx

x Kx Mx

 

 

 

 b) i) What is meant by 'set difference'? Explain with example. (3) 

  ii) Explain with illustrations the principle of extensionality for sets. (3) 

  iii) What is wrong with the following argument? (3) 

   Socrates is a man. Men are numerous. Therefore, socrates is numerous. 

  iv) Let {2,{4,5},4}E   which of the following statements are incorrect and why? (3) 

   a) 5 E  

   b) {5} E  

   c) {{4,5}} E  

  v) If A, B and C are any sets, which of the following statements are true and which are not : (3) 

   a) If A B  and B C , then A C . 

   b) If A B  and B C , then A C . 

   c) If A B  and B C , then A C . 
 

Unit - II 
 

7. Answer any two questions of the following : (2 × 5) 

 a) What is meant by 'infimae species' and 'summum genus'? Explain. briefly with examples. 

 b) What is meant by dichotomous division? Explain briefly with example. 

 c) Explain briefly the distinction between physical division and metaphysical division. 

 d) What is meant by proximate species?  Explain with example. 
 

8. Answer any one question of the following : (1 × 15) 

 a) i) What is meant by 'logical division? Explain with illustrations the rules of logical division. (9) 

  ii) Evaluate the following divisions : (3 × 2) 

   a) Man, into good, bad and intelligent. 

   b) Things, into physical, animal and human being. 

   c) Man, into hindu, black and Indian. 

 b) i) We divide the genus, but classify the particulars belonging to it. Explain. (6) 

  ii) Explain with example : (9) 

   a) Fallacy of too wide definition. 

   b) Fallacy of too narrow definition. 

   c) Fallacy of negative definition. 

  

 

 

 

 

———— × ———— 


